é/122 |y’ =AT+48V, +4V,

Yl ,=M8=ZFM=157/M in.-1b

AT=FZ 0= F (555 10%) 4’ 24,8 /- /3
Avg=Wh = /2(-8) =~ 96 in.~1b

AV = Fh(2=x2) = £ 3([30-15VZ ]~ 0) = 1155 in-tb

Thus L.ETIM=248-96+1158 A= 24,8 Jh-in.




/

F 5 (/500) [(o./+2xo,o-5)2— 072]=22.5 J

Q
2
AN
o\

A7 =7 Lo L5,,2- L1 50 vt [0.3)4 V%
i L y LisoYo )Y L
2 2 2 ) 2( 0){ )(0'4)
= 75U 106U = $£9.06 72
A7 +4av +dig=0, £9.06 vi-73.58 £22.5 =0
v 0,573 , V0757 m/s




rransfatfiona /

6//38 A7 = ZLMUZ—O:.ZL//Opao)/..SZ%)Z_O
2

4 Z;fo f/o'n

- L
_2[/402-«),7

:Zf-(’/iac))/o.f)’_ w [4ooox277] )

/87 5w, - 32.90x10%
Ak = 0.1(787.50,*-32.90x10%) = /8. 750, - 3.29%0°
) i ) J
A\?- mgh = /0000 (9.51)(20 )= /,96x0% o
AE = A/—+-Al§,
/875w~ 3.29% 10 221084 187, 520,*- 32.90x10°
/.96 x/0°
/6 8.7 ‘- e
g 5&02 = 25.65x,0 , «)zlz/s‘z 000 (raz/[,)z

N = 220)‘60

277 = 3720 rev/mm

w,= 390 raa/s or




dU' = a1+ ¥y for entire. chin 7 E
dU' =0 | NE Sk
aT = d(“im‘) = mudv )
=ma-rd® = Tirade
Ny = - g IE (7 a0 cacts')- P TF g rdd
"‘f\jﬂz‘r %Edo"(i~€5"'—{tae rdo
= "fg'ffr%# + Jz") 46
Se 0= Pr*adb — fjﬂ’rl (’l'T“’f 'z%)de

o= (’ﬁ’i'"i)j




©f179] *) Hy, = H,, fr 3ystem
muh = (Tt mh)m

;/;"2)(‘ 600 (412) [_5_5_(3‘,;:% Isﬁhz ) ]

w = 0.684 rﬂdlseg,




6[181 ] e, = 4 rad/s
0.4m O0.2m W=angular Vc/aaé/

@)

@) fé=1;w=(-2!-fz5[o.4]2)4

“ (b)w=o0
H,= mid = 25(0.4)(4)(0.4)

= /6 hg-m/s
¢ 4 () W= W)~ =4-8=-4 rad/s
“ A, Hy=Iw smd
=L(-4)+ 16
= 14 ky-mYs

)




_"/i'__l Conservatun o angular momentum  aloout
Tthe Verhal spin axis of the flathorm ¢
W, = Wy
Eo(os\ﬂ(iso =)= EFEI0 (0.357‘4— |0(0.b>ﬂx
(Bo )

T = 3.45 kj'mz'




